
Financial Literacy Review



Where can money be exchanged?



Where can money be exchanged?

- Local bank branches
- Some ATMs
- Exchange firms
- Foreign affiliate banks



What is the formula for price after tax?



What is the formula for price after tax?

price after tax = pre-tax price x 1.13



What is the retail price?



What is the retail price?

The price on the label (before sales and tax).



What is the pre-tax price?



What is the pre-tax price?

The cost before tax, including discounts.



What is the price after tax?



What is the pre-tax price?

The amount of money you have to pay.



What is the retail price for a sweater that is
$49.99 on sale for 15% off in Ontario?



What is the retail price for a sweater that is
$49.99 on sale for 15% off in Ontario?

∴ The retail price is $49.99.



What is the pre-tax price for a sweater that
is $49.99 on sale for 15% off in Ontario?



What is the pre-tax price for a sweater that
is $49.99 on sale for 15% off in Ontario?

$49.99 x 0.15 = $7.50
$49.99 - $7.50 = $42.49

∴ The pre-tax price is $42.49.



What is the price after tax for a sweater
that is $49.99 on sale for 15% off in Ontario?



What is the price after tax for a sweater
that is $49.99 on sale for 15% off in Ontario?

$42.49 x 1.13 = $48.01

∴ The price after tax is $48.01.



What is commission?



What is commission?

A percentage of the sale received by the salesperson.



What is rate in calculating interest?



What is rate in calculating interest?

The percentage of the value of a balance
or debt that is paid each time period.



How does a credit union differ from a bank?



How does a credit union differ from a bank?

Credit unions are member-owned
while banks are purely for profit.



Plot simple interest and compound
interest. What does each represent?
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Compound interest: interest is paid
on the principal and past interest

Simple interest: interest is paid on the
principal (initial amount of money)

Plot simple interest and compound
interest. What does each represent?

Interest: the amount of money
paid for the use of money



Mika has $40. A rose costs $7.50 plus tax. How many roses can she buy?



$7.50 x 1.13 = $8.48
$40 ÷ $8.48 = 4.72 < 5

∴ Mika can buy 4 roses.

Mika has $40. A rose costs $7.50 plus tax. How many roses can she buy?



A pair of slippers, originally priced at $20 plus tax, have
gone on sale for 25% off. How much will one pair cost now?



$20.00 x 0.25 = $5.00
$20.00 - $5.00 = $15.00

$15.00 x 1.13 = $16.95

∴ A pair of slippers now costs $16.95.

A pair of slippers, originally priced at $20 plus tax, have
gone on sale for 25% off. How much will one pair cost now?



A florist is having a sale: $10 off all tulips! The tulips Bernardo wants to buy
for his mother originally cost $35. How much will he pay for them now?



$35.00 - $10.00 = $25.00
$25.00 x 1.13 = $28.25

∴ He will pay $28.25 for the flowers.

A florist is having a sale: $10 off all tulips! The tulips Bernardo wants to buy
for his mother originally cost $35. How much will he pay for them now?



Lysha takes the bus every weekday to work. A bus ticket costs $3.60 each
way, or she could buy a monthly bus pass for $122.50. Is the bus pass a
worthwhile purchase for Lysha? Assume there are 4 weeks per month.



5 days x 4 weeks x 2 tickets per day = 40 tickets

$3.60 x 40 = $144.00
$144.00 x 1.13 = $162.72 > $122.50

∴ The bus pass is worth it for Lysha because single tickets will cost more..

Lysha takes the bus every weekday to work. A bus ticket costs $3.60 each
way, or she could buy a monthly bus pass for $122.50. Is the bus pass a
worthwhile purchase for Lysha? Assume there are 4 weeks per month.



Rachel is deciding between two products that are each $30 but
one is $10 off and the other is 40% off. Which should she buy?



$10 off: $30.00 - $10.00 = $20.00

40% off: $30.00 x 0.40 = $12.00
$30.00 - $12.00 = $18.00

∴ Rachel should buy the product that is 40% off because it is a better deal.

Rachel is deciding between two products that are each $30 but
one is $10 off and the other is 40% off. Which should she buy?



Sarah needs two containers of laundry detergent. The original cost was the
same at all stores: $15.00. Each store is having a sale. Jerry's Grocer is having
a 30% off sale, Zara's Corner Store is having a BOGO free sale, and Fatima's
Convenience Store is having a $5 off sale. Which store should she buy from?



Jerry: $15.00 x 0.30 = $4.50
$15.00 - $4.50 = $10.50 each

$10.50 x 2 = $21.00

Zara: $15.00 for two

Fatima: $15.00 - $5.00 = $10.00 each
$10.00 x 2 = $20.00

∴ Sarah should buy two containers from Zara's Corner Store.

Sarah needs two containers of laundry detergent. The original cost was the
same at all stores: $15.00. Each store is having a sale. Jerry's Grocer is having
a 30% off sale, Zara's Corner Store is having a BOGO free sale, and Fatima's
Convenience Store is having a $5 off sale. Which store should she buy from?


